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9 A cylinder has diameter 12 cm and length 30 cm.

 Work out the curved surface area of the cylinder.
 Give your answer correct to 3 significant figures.

.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . cm2

(Total for Question 9 is 3 marks)

12 cm

30 cm

Diagram NOT 
accurately drawn

1. [3 marks]

Note that these questions are sorted in date order (most recent questions first).

May 2014, 3HR Q9:  3 Marks
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11 
Diagram NOT 
accurately drawn3.5 cm

8.2 cm

 A solid cylinder has radius 3.5 cm and height 8.2 cm.

 Work out the total surface area of the cylinder.
 Give your answer correct to 3 significant figures.

.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . cm2

(Total for Question 11 is 3 marks)

2. [3 marks]

Note that these questions are sorted in date order (most recent questions first).

June 2015, 4HR Q11:  3 Marks
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3. [3 marks]

Note that these questions are sorted in date order (most recent questions first).

November 2006, 4H Q7:  3 Marks
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3. [3 marks]

Note that these questions are sorted in date order (most recent questions first).
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18 Diagram NOT 
accurately drawn

18.6 cm

 The diagram shows a hemisphere with a diameter of 18.6 cm.

 Work out the volume of the hemisphere.
 Give your answer correct to 3 significant figures.

.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .cm3

(Total for Question 18 is 3 marks)

19  

Diagram NOT 
accurately drawn

P6 cm

8 cm

D

A
B

C

6.5 cm

x cm

 APB and CPD are chords of a circle.

 AP   6 cm, PB   6.5 cm, CP   8 cm, PD   x cm

 Work out the value of x.

x   . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(Total for Question 19 is 2 marks)

4. [3 marks]

Note that these questions are sorted in date order (most recent questions first).

January 2015, 3HR Q18:  3 Marks
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4. [3 marks]

Note that these questions are sorted in date order (most recent questions first).

January 2015, 3HR Q18:  3 Marks
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5. [6 marks]

Note that these questions are sorted in date order (most recent questions first).

May 2004, 4H Q20:  6 Marks



Leave
blank

20

18.

The outer diameter of a hollow spherical ball is 10 cm.
The ball is made from rubber which is 0.4 cm thick.

Calculate the volume of rubber needed to make the ball.
Give your answer correct to 3 significant figures.

....................... cm3 Q18

(Total 4 marks)

*N23068A02024*

0.4 cm

10 cm

Diagram NOT
accurately drawn

6. [4 marks]

Note that these questions are sorted in date order (most recent questions first).

November 2005, 3H Q18:  4 Marks
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6. [4 marks]
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A cone has a base radius r cm and vertical height h cm. 

 

The volume of the cone is 12π cm3. 
Find an expression for r in terms of h. 
 
 
 
 
 
 
 
 
 
 
 
 
 r = ..............................  

(3) 

(Total for Question 4 is 8 marks) 
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h cm 
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7. [3 marks]

Note that these questions are sorted in date order (most recent questions first).

November 2004, 3H Q18:  3 Marks
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20 Use algebra to show that the recurring decimal 0.38� = 
7
18

(Total for Question 20 is 2 marks)

21 A sphere has a surface area of 81ʌ cm2.

 Work out the volume of the sphere.
 Give your answer correct to 3 significant figures.

.. . . . . . . . . . . . . . . . . . . . . . . . . . . cm3

(Total for Question 21 is 4 marks)

8. [4 marks]

Note that these questions are sorted in date order (most recent questions first).

May 2014, 4H Q21:  4 Marks
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9. [4 marks]

Note that these questions are sorted in date order (most recent questions first).

June 2010, 4H Q19:  4 Marks
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20 7KH�GLDJUDP�VKRZV�D�VROLG�FRQH�

� 7KH�GLDPHWHU�RI�WKH�EDVH�RI�WKH�FRQH�LV���a cm. 
7KH�KHLJKW�RI�WKH�FRQH�LV���a cm.

 The total surface area of the cone is 360ʌ cm� 
The volume of the cone is Nʌ�cm3��ZKHUH�k is an integer.

� )LQG�WKH�YDOXH�RI�k. 

k = ... . . . . . . . . . . . . . . . . . . . . . . . . .

(Total for Question 20 is 6 marks)

Diagram NOT 
DFFXUDWHO\�GUDZQ

��a

10a

10. [6 marks]

Note that these questions are sorted in date order (most recent questions first).

May 2014, 4HR Q20:  6 Marks
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21

 The diagram shows a solid cone.
 The base of the cone is a horizontal circle, centre O, with radius 4.5 cm.
 AB is a diameter of the base and OV is the vertical height of the cone.
 The curved surface area of the cone is 130 cm2

 Calculate the size of the angle AVB.

 Give your answer correct to 1 decimal place.

.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . .  
°

(Total for Question 21 is 4 marks)

O BA

V Diagram NOT 
accurately drawn

11. [4 marks]

Note that these questions are sorted in date order (most recent questions first).

January 2014, 4HR Q21:  4 Marks



22

*P44613A02224*

21

 A solid cone has a height of 15 cm.
 The volume of the cone is 320ʌ cm3

 Work out the curved surface area of the cone.
 Give your answer correct to 3 significant figures.

.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . cm2

(Total for Question 21 is 5 marks)

Diagram NOT 
accurately drawn

15 cm

12. [5 marks]

Note that these questions are sorted in date order (most recent questions first).

January 2015, 3H Q21:  5 Marks
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23 The diagram shows a solid cylinder.

 The cylinder has radius 4 3  cm and height h cm.
 The total surface area of the cylinder is 56 6π  cm2

 Find the exact value of h.
 Give your answer in the form a b2 3+ , where a and b are integers.
 Show your working clearly.

h =.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

 (Total for Question 23 is 5 marks)

Diagram NOT 
accurately drawn

h cm

13. [5 marks]

Note that these questions are sorted in date order (most recent questions first).

January 2016, 4H Q23:  5 Marks


